g Part1.SLDPRT

Override Mass Properties.. Recaloulate
Include hidden bodies/components
[ ] Create Center of Mass feature
[ Show weld bead mass
A ™ E—
[Mass properties of Part1

Configuration: Default
Coordinate systen: -- default -

[Density = 0.0361 pounds per cubic inch
[Mass = 0.0035 pounds

[Volume = 0.0961 eubic inches

[Surface area = 1.3942 square inches

[Center of mass: {inches )

X=

[Principal axes of inertia and principal moments of inertia: ( pounds * square inches )
|Taken at the center of mass.
Ix = (0.0000, 0.0000, 1.0000)

inertiae ( pounds * square inches )

ITaken at the center of wiith the output coordinate sy
Lox = 0.0001 Lxy = 0.0000 La = 0.0000
Lyx = 00000 Lyy = 00002 Lyz = 0.0000
Lzx = 0.0000 Lzy = 00000 Lzz = 00001

IMoments of inertia: { pounds * square inches )
[Taken at the ouiput coardinate system.

boc = 0.0002 by = 0.0000 ba = 0,0000
Iyx = 00000 Iyy = 0.0002 Iyz = 00000
1o = 0.0000 tzy = 0.0000 tzz = 0.0002

Help Print. Copy to Clipboard

Volume Before cutting Chamfers

e Mass Properties - X

% Power Piston Above top Ring.SLDPRT

| Override Mass Properties... ‘ ‘ Recalculate ‘

Include hidden bodies/components
[Jcreate Center of Mass feature

[ show weld bead mass

Report coordinate values relative to: | -- default v

Mass properties of Power Piston Above top Ring
Configuration: Default
Coordinate system: -- default -
Density = 00361 pounds per cubic inch
Mass = 0.0033 pounds
Volume = 0.0911 cubic inches
Surface area = 13326 square inches
Center of mass: (inches )
X=00152

Y =0.1128
Z =0.0000

Principal axes of inertia and principal moments of inertia: ( pounds * square inches )
Taken at the center of mass.

Ix = (-0.0003, 0.0000, 1.0000) Px = 0.0001
Iy = (0.9993, -0.0384, 0.0003) Py = 0.0001
Iz = (0.0384, 0.9393, 0.0000) Pz = 0.0002

Moments of inertia: ( pounds = square inches )
Taken at the center of mass and aligned with the output coordinate system.

Lox = 0.0001 Lxy = 0.0000 Lxz = 0.0000
Lyx = 00000 Lyy = 0.0002 Lyz = 0.0000
Lzx = 0.0000 Lzy = 0.0000 Lz = 0.0001

Moments of inertia: ( pounds * square inches )
[Taken at the output coordinate system.

Ixx = 0.0002 Ixy = 0 Ixz = 0.0000
Iyx = 00000 lyy = 0.0002 Iyz = 0.0000
Izx = 0.0000 Izy = 0.0000 Izz = 0.0002

Help ‘ Print.. ‘ ‘ Copy to Clipboard

Volume after cutting chamfers

Net result volume before cutting chamfers 0.0961 cu in minus 0.0911 after cutting chamfers = 0.0050 cu in.






